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CORRECTION

D'apreés le cours, nous savons que le taux de variation de f entre a et
b=a+ h(h=0)est:

~on_f(a+h)-f(a)_f(a+h)-f(a)
C(h)= = :
(a+h)-a h

|l f(x)=4x, a= I

slcii Df=IR, a=1€EIR et b=a+h=1+h€E R

fla+h)-f(a)_fU+h)-f(/)
h h

_4U+h)-4
h

» Dans ces conditions:

Ainsi: T(h)= ¢

2 f(x)=3x+7, a=-1I

elcii Df=IR, a=-1€EIR et b=a+h=-1+h€EIR

fla+h)-f(a)_f(G1+h)-f(-1)

» Dans ces conditions:
h h
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Ainsi. T(h)=3

3f(x)=-x+10, a=0:

=(3(-I+h)+7)-(-3+7)
h

=3

elcii Df=IR, a=0€ER e b=a+h=hEIR

» Dans ces conditions:

f(a+h)-f(a)=f(h)-f(0)

h

Ainsii C(h)=-1

4 f(x)=m-x+p, a=T7:

h

=(-h+IO)-(/O)
h

=-1

elcii Df=IR, a=7€IR et b=a+h=7+h€ R

» Dans ces conditions:

fla+h)-f(a)_f(7+h)-f(7)

h

Ainsii T(h)=m.
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5 f(x)=x% a=-2:

slcii Df=IR, a=-2€IR et b=a+h=-2+h€ER

» Dans ces conditions:

fa+h)-f(@)_f(-2+h)-f(-2)

h

Ainsi. T(h)=h- 4

6. f(x)=x3 a=1I

h

_(-2+h)>-4
h

_4+h>-4h-y
h

=h-4

slcii Df=IR, a=1€EIR et b=a+h=1+h€E R

» Dans ces conditions:

fla+h)-f(a)_fU+h)-f(/)

h

Ainsi: 'C(h) =h*+3h+3

7 flx)= i a=6:

h

=(I+h)-°’-/
h

=(h3+3hz+3h+ 1)-1
h

=h*+3h+3

slcii Df=IR* a=6€EIR* et b=a+h=6+ hE IR*
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fla+h)-f(a)_ (6%,) ) <é)

» Dans ces conditions:

Ainsi: T:(h) =-

36-6h
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